Integrated Math
Functions

1. Which relation diagram represents a function?
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2. Which of the following relations describes a

function?

oA {639,224 69}

o £(22,0,0,22 63}

6c{0.8),(4,2.4,2,03}

6 p. {20,002, 20,02}
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Using the vertical line test, determine if the graph
above shows a relation, a function, both a relation
and a function, or neither a relation nor a function.

(2 A. neither a relation nor a function
 B. function only

( C. relation only

(2 D. both a relation and a function

4. Which relation diagram represents a function?
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5. Which of these t-tables represents a function?

8. Which of these mappings is a function?
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9. Which of these t-tables represents a function?
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10. Which of the following relations is a function?

oA Q1) (4.4.4.1).02

o . (44, (-4,6).(4.3),(-6,2)

o (4.0).(4.3).9.1).(-4,5)

o . @49 (4.2).0,1)(-6,2)

11. Which relation diagram represents a function?
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Using the vertical line test, determine if the graph
above shows a relation, a function, both a relation
and a function, or neither a relation nor a function.

(2 A. neither a relation nor a function
(2 B. both a relation and a function
(& C. relation only

(> D. function only

13. Which of these mappings is a function?
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14. Which of these mappings is a function?
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15. Which of the following graphs is not a function?
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16. Which of the following relations is NOT a
function?

oA 6.4).(12),(21),(62
o B, (1.4).(2,2),(6,1),(-6,5)

o (@249.(12).21).(62)

o p. (6.4).(2.3).(-1,1).(6.2

17. Do the ordered pairs below represent a relation,
a function, both a relation and a function, or neither
a relation nor a function?

(-3,2),(0,-1), (7,-8) , (8,-9)

(> A. both a relation and a function
& B. function only

C C. relation only

(2 D. neither a relation nor a function

18. Which of the following relations is a function?
O A 0, 4), (-3, 2), (8,1), (-8, 2)

o B. (0.4.(:3.6),(0.3),(-8,2)
o . (0.0.(33),8,1).(:3,5

op. 81).(3.4).01).82)

19. Which of these t-tables represents a function?
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20. Which of the following relations describes a
function?

A, { (1’ 1)1 (1! 2)1 (21 1)! (21 2) }
.:3. B. { (11 '1)1 (1’ 1)’ (21 '1)1 (2v 1) }
o e {(0,0.0.1),(1,0. L1}

60 (L2, (21, (12,21}
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Does the graph above show a relation, a function,
both a relation and a function, or neither a relation
nor a function?

 A. function only

(2 B. neither a relation nor a function
(2 C. both a relation and a function
( D. relation only

22. Do the ordered pairs below represent a relation,
a function, both a relation and a function, or neither
a relation nor a function?

(-5,2), (3,-6), (6,-9) , (8,-11)

> A. relation only

(> B. both a relation and a function
(2 C. neither a relation nor a function
 D. function only

23. Which of the following tables represents a

function?
x|-13]1-9(-111
A,
y|25123]31]25
x[1-131-9(-11]-9
i B.
y|25]23|25]24
_ x|-131-91-131] 1
i C.
y|25125]31 |24
x|-13]1-9(-11]-1
o D.
y|25123]25(24

24. Which of the following graphs is not a function?
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25. Which of these graphs represents a function? 27.
Which of these graphs represents a function?
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Does the graph above show a relation, a function,

both a relation and a function, or neither a relation Does the graph above show a relation, a function,
nor a function? both a relation and a function, or neither a relation
 A. function only nor a function?

3 B. both a relation and a function O A. both a relation and a function

3 C. neither a relation nor a function  B. neither a relation nor a function

O D. relation only © C. relation only

(& D. function only




31. Which of these t-tables represents a function?

OAY
0B.Z
OCW
& D. X

32.
Using the vertical line test, determine if the graph
above shows a relation, a function, both a relation

and a function, or neither a relation nor a function.

(> A. neither a relation nor a function
(2 B. function only

(> C. relation only

(2 D. both a relation and a function

33. Which of these graphs represents a function?

Y. Z
A Z
O B. X
O CY
O D.W

34. Which of the following tables represents a
function?

A,

x|-10|-6|-2]-6
lyl19 |17]19]18

x|-10|-6|-2| 4
y|19 |17125]19

O C.

> D.

y|19 119} 25 |18

35. Which of the following relations describes a
function?

oa{?22.62.42,.62)}
. 1(20).0,-2,(02),(20)}
o c.10.0),(2.-2).(22).3.3)}

. 123).(2.4),(2.5).(2.6)}

36.

Determine whether this picture is an example of a
function, relation, function and relation, or neither
relation nor function.

(2 A. neither function nor relation
( B. relation only

(> C. function and relation

(2 D. function only

37. Which of these graphs represents a function?



OA X
O B.W
o C.zZ
DY

38. Which of these mappings is a function?

O A X
O B.Z
OCY
O D.W

39. Which of the following relations describes a
function?

oaf0.2.(13.20.24}
o {02,130 &4}
o {644.(11,(1,3),02}

o p.10.2).(13),(44).09.5}

40. Which of these mappings is a function?

OAY
O B. X
O C.W
OD.Z



